A |

fe TAPE 3800 mi40l1 ACKLEY AD CONTROL

OCTAL ‘
0.22000] 40| spf6 f£1,ts1000 cafl tdf2 adl ts2f2 esl
ts15f3 f2,ca adl 0 aof?2 ao2f2 sul2f3 epf2 cal000
si707 cal3f3 bo1000 ck14r3 calif3 ts1000 a0l15f3 epifil cafl
tsfl esO £4,0 aofy suf3 cpfl=-1 calf3 si707 bo1000
ck2f3 ca5f3 si707 calf3 b01000 ckaf3 ca0 51703 rd

ckO s1700 rd ckl cabf3 si701 rd ak7f3 cabf3
si702 rd ck10f3 cal si704 re califs3 51701 rd

ckO 81705 re si7o1 rd ckO s1706 re cal
si701 rd ckO calf3 81703 bil1000 ck2f3 cs0 ck1000
ck1400 ck2000 ek2400 ck2777 cahf3 s1703 calf3 b11000 ck2f3
es0 c¢k1000 ck1400 ¢k2000 ck2400 k2777 si2 rd epf5
splo f5,s113  splo f6,caf2  tsio sp3500 £3, 582777 %. 12000
s13000 s12001 s14000 516000 si4400 siltoo 1013,s14401] silkyo2
ts1577 $1600 s11600 0 [ “
1735| 0.22070 0.26006 +1 1740 0.15227 0.15230 o%isuoo 0.15407
0.15410 2000} 0.510741 0.06022 0,10034  0,75060  0.30040 0.,24060  0,44010
0.7103%  0.75050 0,0203% 0.36021  1.51000 |

START AT 3500 @'



